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There is a possibility that they dragged it at that time

OVERVIEW

In the case of p>xn YW 1nnow (where they were 17707 the 172), a 991 was placed in the
pit. It is doubtful whether the 7721 dragged him out of the pit at the time the 3772
glanced into the pit, and nevertheless the 375 is 77w, This seemingly proves that a
Pd0 (whether 111773 or not) is X°X¥1 from a >X7 (991 which was placed in the pit).
The X713 responds that there is no proof concerning X1 7% XX 290 for the nnow
placed a 291 po0 in the pit. It is therefore a P50 which is o0 >11 XX, The issue at
hand, however, is the status of the 712; is it a 7"177 (where M7 12°90 [and the initial
proof is not understood]) or is it a *"77 (where even a X0 90 is ¥nv [and the
refutation of the proof is not understood]).

*

mooIn asks:
— PNV HNN XPAVA 1DON D290 MY N NP NI 972 NN 99NN ON)

And if you will say: where was this pit situated? If it was in a 9''719, then even if
there is only one po®, whether 171773 or not, he is erm, for the rule by 8m Poo is that
TV P D0 102 RPN PO -
— 129 993 19139 DYV 2IWN NI TN MY ON)
And if the 72 was situated in a 3''719, what does the X713 answer later that she
placed a seemingly stillborn in the 933 and therefore it is a X*50 pp0 (one pod whether it
was a 291 altogether, and even if it was a 791 there is a second oo that maybe the 171773 77217)
and that is why the 1712 is M7 -
- 72909 9195 NNNY MPI9DT Y9590 MPI0 Y3 (171 178 mranv) 19N
But we have learnt in a 7w, all ny»3s2 and nmpe20 Sp°20 that you can add on, if
the poo is -
= NV 700 MYl
in a >''7m, it is X»W, regardless of all the mp»00. Therefore it cannot be that the 712 was in a
>"717 for then the 772 would be Xnv (regardless of how many mp90), and it cannot be in a 71" for
what is the question of *X71 >7 XX P90 X, the rule is that 7"772 AXMW 250 is NAY!

N1B0IN answers:
— Mryh 15Y95979 9390 PAD N D192 DTN NI59XT Y Y

! Indeed by 1"772 XMV 290 a PO is XTI 7 XXy, That is the meaning of v 1"772 AxMY Po0. It is however no
proof concerning other 2°M0°X, such as ynn, etc. See (however) “Thinking it over’ # 2.
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And one can say that indeed the 712 was °"772, and the reason why by a 0"0 it is
71w that is because the dragging of the corpse by a 97721 7791 is a ‘common’

»o® as I explained previously. By a 7°3171 o0 (which is "X 217p), when it is a 0"0 (even if
it is *"7172, nevertheless) it is M.

nooIN elaborates on the 777 of this 172:
— ©290 MY 1N 1097 99197 91D o987 PPN 1329 9N

The °''% maintains that it is necessary to say that the feet of the 3772 were in the
9''719 (even though the M2 was in the *"717 as previously explained). The reason for this is -
— NAV NIMA NI NN TN by4
For you must assume there is no opening of a n2v in the burrows of the 7791
077721, The opening of their burrows (into the 712) is less than a rdv in diameter. The reason we
must assume so is -
— RNV NX N3N NIV NIND NN N99) NHYIN NN (2391) NOV NI NIIN INT
For if there is an opening of a now, what does the dragging away accomplish;
an opening of a now brings out the 7INMW and allows it to escape from the burrow into
the pit, where the 173 is standing over it’. Now that we have ascertained that the 21 is not a nmp
novw, it is understood why the feet of the 372 must be in a 71"777 (where M7V P°90) -
— AP NYPIA ANMDIVI PTH9 33 17199 NNY YINI TINN MW 1929 IN)
For if his feet were in a >''7m, let us be concerned that perhaps the 779
dragged this 791 into its burrow exactly below the feet of the 3715, and the rule is if
TXMY 1s in a crevice where there is no 19V N1 (as is the case here, as we have just
proven), the 78=1 bursts through the covering ground and extends upwards’;
thus making the Xnv 173. Even though it is a P50 (whether the 951 is directly under the feet of the
1173), however °"7772 IR0 790 is X1 1°00. Therefore we must assume that the 3772 °231 were in
7"77 and even though there is a possibility that the 791 is immediately under the 773 °937, but
nevertheless since it is only a P90, the rule is that a 7"7772 XMW P50 is NAV.

mooIn offers an alternate solution:

25'nRY "7 R, 0 7.

? The X3 says that even though the 1715 was bent over the pit, nevertheless there is a reason for 7770 since there is
the possibility that the 77711 dragged the 291 from the 2 into their burrow which opens into the pit. If the opening of
the burrow into the pit is a 1oV in diameter, the rule is that the 7Xmv that is in the burrow ‘escapes’ and enters into
the pit, and in turn will be &nvn the 175 who is 7°1xn over the 112. Therefore we must assume that the opening of the
burrow is narrow and does not have a 190 1, thus keeping the %M1 in the burrow and prevents it from entering
into the pit.

* If the opening is not a mov mM2, even if inside the burrow itself there is a width of a nov (which would usually
prevent the nX¥» from extending upwards [see 7727w 7"7 >"w1]), nevertheless (according to MmooIN) since there is no
now Mo at the opening it is a considered a 0o 72p and is 77w NYPIA. See X"wIN.
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And in addition one can say, that the 772 *»37 were in a »''177, and the reason he
1S MY even though there is a XMV poO, is that the o0 that the 09772 77N

dragged the 791 and ate it is a common P5®. As mentioned previously, by a 73771 poo if
there is a 0"0 it is M even in a ®"7.

SUMMARY

The 72 was a >"7711 and nevertheless the 175 is 71770 because by a 2°x777 P90 (such as
1M1 [or ¥M22R]), we are lenient by a 0"0 even *"12.

If there is a 7Y MO in a burrow it escapes from its opening to the adjacent area
and if there is no moY ML it is 72w nNyp1a. The 370 %31 were in the "7, or
alternately >"7772 if we assume that 177792 po0 is a 73177 pov.

THINKING IT OVER

1. The jwpn attempted to prove from the story with the 121 anow, that poo is XX
RT1 >7°n. Seemingly (based on our N1©OIN) it is not understood what is his proof.
Perhaps the 712 is in a 7"77 and therefore the 373 1s M7V, since 1"772 ARMIY PO 1S
M17w; it does not prove, however that generally a poo is *XT1 >7n &oxn!’

2. The rule of X717 XX 290 X can be either understood that it remains a X7
MMOXR (the n°7 PO does not weaken the °RX7) at all), or that the 7n°77 790 cannot be
7N the MoK, however it weakens it so that it is merely 710X on account of a 0.
Does our MooN seem to lean either way on this issue?®

> According to this answer ¥%3X P20 is also a 2°377 oo (not only 111773 PoD).

®Ttisa0"o (even according to the 'Xn°X n°ya *XY' [who maintain that it was a 991 °X71]) because there is the %777 90
that 1119aR (before it was 1°231 nrn) and even if it was not 171798, we are not certain that the burrow of the 77211 was
under the 377577 "3,

" See n"ox.

¥ See (footnote # 1, and) " (v) A°Y0 R,1 772X NO72.
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